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N B3NS
= SAIZANER2Y
¢ oteFdg2el (ot Ay SE3IH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
LIA=HHLERE 80,0003 x 1 128 960
TOIUSHINBABAZE
30,000 x2H » 128 720
o gsH (232 &) 50,0002+ 128 1,200
R0+ HelAld 2 (ot=Z At SE3H) 3,926,383 3,851,531 74,852
gdot=HelAsE 29 3,326,383 3,398,506 AT2,123
101 1A dl 68,500 64,657 3,843
M4 II2HHZ22NSES 68,500 64,657 3,843
Odt=2=XMclE &S 4 oAl
138, 290%*2&'*2%*12% 6,638
OXHBEHEX L SAMIANE FL ol
138,290 »1H 22 63| 1,660
ORgYds & gtESx A Al
138,290 »1H 2 63| 1,660
Og&dot=HMel& M=xZ el
138,290 »2H 32 33| 2,490
OSAESX2AE 29 el 56,052
AR 138,290 » 1 252 34,850
RSELLY(ZH2Y)
138,290 » 1 «64 8,851
e =] 138,290 1. 5% 1H x30 6,224
. AUHEE 52,967,000 x11% 5,827
A= Y otMsE 2 300,000& x1H 300
201 Let249] 1,180,520 1,157,720 22,800
01 At 22/l 52,320 84,320 A32,000
OZHA HE =22 (MEHSE A
10,000& =122/ 10,920
Ox=ZIAN HE>22(E3EZAH)
200,000& =123l 2,400
Oddg E&8xg gt 2,000,000& 10 20,000
OdJ| dFEH =2 6,000,000& x13] 6,000
OAZ Ul YBAN 48 3,000
O+E=FII(TMS) FEAA +48
6,000,000& x13] 6,000
OSASHelAE ANEdTA =5
4,000,000& =13 4,000
02 =224l 1,128,200 1,073,400 54,800
Od2Hdeld I3 (SASHMAE L&) 600,000
03323 (8d - dotx==22 5)
300,000& »12& 3,600
O XH&dI(10h) 13,600
e s F 225,000 x2CH x128 5,400
e Al 200, 0003 *2CH 63 2,400
Xte EHOIOY WAl 2,200,000 »2CH 4,400




A B3AY A
M SHBIZANE2Y
& g5t elAd 2 (ot ALY SE3IA) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
T 22R= @ PeE
700,000 *2CH 13 1,400
O tol=0r 3¢y B3 1,000
OA& ZHl R Xl 510,000
g2 xeld AMdEH Sl 200,000
St Xl Mt s 155,000& *1,000= 155,000
g0+l FI A¥FH(FEI, FY)
29 15,000
SA =2 M2AE Xl
100,000, 000& * 14 100,000
SAMZ2F HIIZ Ml (HlAaAl)
200,000 x200& 40,000
206 M= Hl 361,190 274,650 86,540
01 =8l 361,190 274,650 86,540
OJIHANEE SANEx NMH(RE, 2Y S) +
2 1,000, 000& *82| 8,000
OHFIINEE SAEx NM(EH, XD S)+
2 1,000,000& x102] 10,000
O=ZE=HII(TMS) RXE=+ XM (PH, AN S)
3,750,000 »43] 15,000
ODENSTHPY(24S)
4,800& «70kg*365&! 122,640
OB HelAlE SEAM(Alun) <4Z 2L
1403 %3,500kg »365 L 178,850
OEgy SAels F2H 2
4,000& x20L*60= 4,800
OSASHRAANE AHHBAL %E 2
3,000\_J *20kg »365 L 21,900
207 A RO H| 16,110 233,000 A 216,890
03 A& &2l 16,110 10,000 6,110
OAlIE A 2| 16,110
AEEAINR 2 200,000& 20 4,000
AFAA(AE) 2 175,000& »25& 23| 8,750
ASEADE(DY E) 2 2,000
TOC2AR DeE MAJA 7
170,000& 83l 1,360
308 XXIEHH S0 A 20,563 6,879 13,684
07 XX SHM2ARE S 20,563 6,879 13,684
OSA2 HelAe BXE HE 2223
153 +800,000kg *1.023 12,276
OB+ HT RY FES H22E2
153 *540,000kg x1.023 8,287
402 RIZEX20l A 1,654,500 1,575,600 78,900
03 212t &AL S HI 1,654,500 1,575,600 78,900
O=Z=HFII(TMS) Zeltig 4,000,000& 128 48,000
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2N
X ZH -
L= B

el

ALY A
BHIEZNER2E
gRot=Hel AL
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& (ot ==

H

At ed
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[3)

ol
fon

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OZAdXMHelAlE 2elutd
133,875,000& =128 1,606,500
405 XHoHF S HI 25,000 85,000 A 60,000
01 XA 2 S FH S| 25,000 85,000 A 60,000
OdestaHelZ 248 2EH 2Y
5,000,000 = 1CH 5,000
OLeBI MY As 22YTH 2Y
20,000,000 = 1CH 20,000
glotrXelAld SFAEME 600,000 453,025 146,975
401 AIEHIZ 28I 600,000 453,025 146,975
01 A& Bl 600,000 432,065 167,935
OB +H2IT FaS2I &3 DA
600,000,000& =14 600,000
28 -0d otxxelANd 29 (ot AIE SE3H) 2,383,800 1,919,127 464,673
| 413,563
Al 1,970,237
2sEGt=HeANE 2 (BX) 2,383,800 1,919,127 464,673
| 413,563
Al 1,970,237
201 Let24d] 161,600 133,927 27,673
01 At 2teltl 2,000 2,000 0
Ogt=&H| 2,000
02 3323l 159,600 131,927 27,673
032323 ((8JIe3) 5,000,000& x12& 60,000
03323 (s8d - dotx==22 5)
300,000& x12& 3,600
O=& KXY 96,000
2= - UEot=HMaE AMEFEH S XY
35,000,000 *20H 2~ 70,000
22 - UEd=HMel ¥ XS FIAEEZ
3,000,000 24 A 13| 6,000
2= - UEotrHMelE X2 FLAEEZ
10,000, 000& *20H 2=+ 13 20,000
202 Odl 5,200 5,200 0
01 = LHA YI 5,200 5,200 0
O2s - dEdot=xHeld 29 =Z 0
20,0003 *121+260 5,200
207 A RO 441,000 0 441,000
01 A2 ESHI 441,000 0 441,000
O -8 - AnE33dt=HelAlE Way
s 4t 7,000,000 *63H A~ 441,000
402 RI2FXt20l ™ 1,776,000 1,680,000 96,000
| 413,563
Al 1,362,437




N B3NS
B #AIENELY
el 28204 St+HeAMNE 2L (=S AIY SEIAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
03 212t &AL S HI 1,776,000 1,680,000 96,000
O23ot=T A4 el (2,208,272,
EHEIE) 26,666,660 *63H 2~ 1,680,000
J| 413,563
Al 1,266,437
O - o8 3= (TH) 2ol
4,000,000 20 2122 96,000
OtSot=HMelAlE 2 (ot A SE3H) 866,570 1,258,680 A 392,110
SS220 02t AE 2 (XHA) 459,670 420,460 39,210
101 14 dl 33,190 24,000 9,190
04 JIZHHZ2XNHESE S 33,190 24,000 9,190
OBI0IBE M2l & (6MMA) HIHAA 1Y
138,290 x5H 10 #20H A& 13,829
OMRBIE M el & (4 4) a4 o2
138,290 & x5H +7 43| 19,361
201 Let24d] 166,800 180,460 A 13,660
02 =24l 166,800 180,460 A 13,660
OHdsZMot=HMelAE ez
400,000 «250 =12 120,000
03323 (sM23) 50,0003 *2504 &+ 12 15,000
OYsSZdaH 22Xl AIE Xl 6,800
LEIEXNE KRFH 300,000 «1CH~12& 3,600
Xb & A =S| 400,000 »1CH x53] 2,000
282 ¥ 23223 1,200, 0002 = 1CH 1,200
OoHdsZ=Hdot=xXclAlE ALZEEI Kb
1,000, 000& *25H 2~ 25,000
202 O4dl 2,000 8,000 A 6,000
01 =S LHAYI 2,000 8,000 A 6,000
odgszdaAdt=HelAld 29 &0l
10,000& 1% 200 2,000
207 A RO 31,680 0 31,680
01 2284 31,680 0 31,680
OLn233ots=HelAld Jlsdd
10,560,000 «37H £~ 31,680
401 AIEHI L 20 226,000 208,000 18,000
01 A& Bl 226,000 206,128 19,872
OLn2 S3ctsX2lAl4 MRBSE E9 WX
24,000,000 =404 A~ 96,000
OARE BSot+=HeAANE (AR, EE) EAH 3
At 65,000,000 *20H 2~ 130,000
H&2d+H OtE2dt=XH2AE 22 406,900 238,220 168,680
201 et 232,900 166, 100 66,800
01 At 22l 2,500 2,500 0




2N
X ZH -
L= B

el

ALY A
BHIEZNER2E
OFSdt=XMelANE 2L (Gt AMd SE3IAH)

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Ogbt424| 2,500
02 2324 230,400 163,600 66,800
O ALE=HGEHCIAE dIRB
400,000 *3601 A~ x12€ 172,800
OZBZ2QZ2(SEN - Aotx=2E22 S)
50,000 x360H A« 12 21,600
Ox=&d s Xl 36,000
HER2Z2=HGEHEAIE AlEEH KXY
1,000, 000& 360 2 36,000
202 o4 | 4,000 4,000 0
01 2L HI 4,000 4,000 0
O&X LAt ANE B3 & Sl =
&4 1l 20,0003 1 x200 4,000
401 Al HI L 204 HI 170,000 40,000 130,000
01 Al&H| 169,064 40,000 129,064
O Z2Z20=H2lAlE PLCHMIOIEH WM 2 At
13,000, 000& * 1070 2~ *99. 28% 129,064
OARR ZZ5IEHeAE(HE) o= W
H ZBA 40,000,000 * 104 & 40,000
03 Al&E 201 Y| 936 0 936
O Z2Z20=H2lAlE PLCHMIOIEH WM 2 At
13,000, 000& x 100 & *0.72% 936
ot 22 26,669,055 12,780,055 13,889,000
= 23,210,000
Al 3,459,055
ot & ¥ SA2H2 (=AY S5 H) 1,478,055 3,168,055 A 1,690,000
Sl =4&AY 334,000 334,000 0
201 et 34,000 34,000 0
01 AP 2t 2] H| 34,000 34,000 0
Oodazs=4& 29X 2,000,000 17 34,000
401 Al HI L 204 HI 300,000 300,000 0
01 A& H| 300,000 300,000 0
Odtx=Z=4 (& - 5tEHD]) 150,000,000 x23| 300,000
ol AU ALY 1,000,000 2,690,000 A 1,690,000
401 AlEHIZL £ 0HY| 1,000,000 2,690,000 A 1,690,000
01 Al&H| 996,400 2,690,000 A 1,693,600
Odlx=& 228 300,000
OARR Sl 2 EXAMY(EIAILSHS X 2)
500,000,000 *99. 28% 496,400
OZAHEITZA QAAHAUAl AIAE AXIAS
10,000, 000 204 A 200,000
03 A2 HH] 3,600 0 3,600




2N
X ZH -
L= B

el

SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
047G olx22 SAMS(BANLBHEA )
500,000, 0002 *0.72% 3,600
TR UHTY 19,105 19,105 0
206 T 2 bl 19,105 19,105 0
01 MZHI 19,105 19,105 0
OSt+ERNS48 NHH2Y 19,105
O & £ 24 (D648) 260,0002 *20H 5,200
© 42401 (D300) 211,0002 %20 H 4,220
Ab2$0H & < 24 (1000%1000%50)
375,5002 * 107K 3,755
Ab2$0H & 5 24 (600+600+50) 18,5002 %20 M 2,570
Ab2HOH & S 2/ (7004700%50) 68,0002 %20 H 3,360
steERNTe ¥ 24 124,950 124,950 0
201 YuHe | 121,950 121,950 0
02 ZZ 2l 121,950 121,950 0
ORI (GHEERN 2SS 10H) 10,750
L 400,000% » 1§ * 12 4,800
R4 L 22yl 500,0009 1CH*103] 5,000
e 750,000% *1CH 750
2NE Y BIREZ 200,000 * 1CH 200
OSHEBEE A&IHRN 50,000
OZHBOE M2 5,000,0002 * 122 60,000
OZZe3(s422 ) 10,0002 * 12 1,200
202 01 3,000 3,000 0
01 2ol bl 3,000 3,000 0
OZUoiHI (A SHgRae EZ0itl)
20,0002 * 12 1502 3,000
SHREZHUIAY (ST ALY SE3IH) 25,191,000 5,929,000 19,262,000
= 23,210,000
Al 1,981,000
Stacel Hx ¥ el (St FH)-HEBZ I 1,922,000 259,000 1,663,000
INEICES)
= 1,322,000
Al 600,000
403 R SHS K201 H 1,922,000 259,000 1,663,000
= 1,322,000
Al 600,000
02 ZJI2+S Ol C§ 8H X+ 2 & I = AL B 1,922,000 259,000 1,663,000
OXZ B2 HYI ALY 1,922,000
= 1,322,000
Al 600,000
Stacol B % Tel(oh4BAH FHl)-ZE 28] 4,665,000 851,000 3,814,000
SRR HUIAI (2 X)




A BHAMEA
M Gl 22
S olE2A2HHIAMY (St ALY SE3IH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 4,065,000
Al 600,000
403 XX SHHS K20 & 4,665,000 851,000 3,814,000
= 4,065,000
Al 600,000
02 BI2SHUESX2ERAEAIS Y 4,665,000 851,000 3,814,000
Od 2t ot =22 - Y| ALY
4,665,000, 000 = 14! 4,665,000
= 4,065,000
Al 600,000
ot4=E9o AX 2 Zel(ot=201 Hd|)-Y< [3EH] 16,328,000 3,159,000 13,169,000
St+=ZZEHMY(EX)
= 16,328,000
401 Al HI L 2 0HHI 16,328,000 3,159,000 13, 169,000
= 16,328,000
01 Al& H| 15,415,350 2,500,470 12,914,880
OYA[HAH] St Z2FHI ALY
15,415,350,000 1Al 15,415,350
= 15,415,350
02 22l 912,650 650,000 262,650
OYH[3CHH] SlE=ZZ2ZHUIAMY 2e=sd
912,650,000& * 1Al 912,650
= 912,650
HHel Y otz SHEAY 714,000 0 714,000
= 500,000
Al 214,000
401 Al HI L £ 0HHI 714,000 0 714,000
= 500,000
Al 214,000
01 Al& H| 708,860 0 708,860
Odexel < stz HAHAY
714,000,000 «99. 28% 708,860
= 500,000
Al 208,860
03 Al 24| 5,140 0 5,140
Odg el ot=2=2 HHAY 5,140
Old QIEZX T ot=2E HHAEY 714,000 0 714,000
= 500,000
Al 214,000
401 AlEHIZL 201 Y| 714,000 0 714,000
= 500,000
Al 214,000
01 Al&H| 708,860 0 708,860
OOt CIEX P otx=22 HH A
714,000, 000& *99.28% 708,860
= 500,000




A BHAMEA
M Gl 22
S olE2A2HHIAMY (St ALY SE3IH) (2 &HH)
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 208,860
03 AlE 201 | 5,140 0 5,140
O0tYg CIZEXF o222 FHAY 5,140
AR GHER2 FHIAY 358,000 0 358,000
= 250,000
Al 108,000
401 AlEHIZ 2 0HY| 358,000 0 358,000
= 250,000
Al 108,000
01 Al& B 355,423 0 355,423
OKMWXI 7 ot=2t2 HHIAIY
358,000, 000 99 . 28% 355,423
= 250,000
Al 105,423
03 AlE 2 HH] 2,577 0 2,577
OKMWXI 7 dt=2t2 HHIAIY
2,577,000 x 14! 2,577
HRHel 1Y otz HEAY 490,000 0 490,000
= 245,000
Al 245,000
401 AlEHIZL 2 0HY| 490,000 0 490,000
= 245,000
Al 245,000
01 Al& H| 486,472 0 486,472
OHR &= olx=22 HL XA
490,000,000 x99 . 28% 486,472
= 245,000
Al 241,472
03 Al 20| 3,528 0 3,528
OHd &5 gl=a22 HL XA
3,528,000 =14l 3,528
ol HYMIES 476,654 250,013 226,641
GHACHUMBSE (G EAY SEaIH) 476,654 250,013 226,641
ol MYUTHE ES 115,538 143,038 A 27,500
201 LBt ]| 100,738 113,238 A 12,500
01 AP 22| H| 82,928 82,928 0
OZJIEEYSH Z24 JHZAMN =22
9,000,000& x14! 9,000
O2JIYELEZHEZZ O HOEH & M
2,500,000 =14l 2,500
O oM L ME(0A, ZBA HAEAHI &) 8,000
Odtx=ZAIE8E DA 258 S5 HE
200,000 x58F A 1,000
Odtx=E 2 22 - 218 I s
600,000 x12& 7,200




SH: BEALL
BH: slaCHYHAEE
Sl GHACHYMAHB (SIS AY SHaIH) CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Odt=CAtEE MSJlC 85 248
10,000,000 *1.5% 150
OZIABNALLS(BIH-TABE T2 24
2) 2,753,900,000& *2% 55,078
02 E2=2=2%H| 17,810 30,310 A 12,500
ODANANES B3 (L)
300 200+ 12 720
ODANANES 2EHR2(SII)
1,930& *60S « 128 1,390
ORI ELEH T2 X 2eldl
3,750,000 x4 4! 15,000
O2JIEELYEIH oI 2elAIAE SX 22
ul| 700,000 =14l 700
202 o4 H| 4,800 4,800 0
01 2L HI 4,800 4,800 0
Odtx=T A2 21 - 423 S0
20,0003 x2H «10L x12& 4,800
802 Btet= | Ef 10,000 25,000 A 15,000
03 JIEIEHEt 2 S 10,000 25,000 A 15,000
ONE T Gl AIEE U2 bHEt 10,000
ol g1 4] 361,116 106,975 254,141
801 ollgldl 361,116 106,975 254,141
01 LBhol gl bl 361,116 106,975 254,141
oolglgl 361,116
HAE2H A 2,225,592 2,240,269 N 14,677
ClAEAR2AH| (Gl ALY EYEH) 2,213,192 2,227,569 N 14,377
ol AY| 2,213,192 2,227,569 N 14,377
101 Q124 H] 1,928,682 1,956,652 N27,970
01 2= 1,375,310 1,438,486 NB3,176
OPIE=3=; 924,393
rE20EdHE) 6,331,7502 x1H x12& 75,981
F2(diude) 5,071,000 x1H 14 5,071
= 4,261,900 10 x12& 511,428
=1 3,731,200 x3% x12& 134,324
= 2,621,3002 x4 x12& 125,823
.93 1,993,500 3%« 12& 71,766
o234 10,372
rais 4,354,700 *3H «12& x4 . 1% 6,428
6= < 4,007,200 x2H x12& x4 . 1% 3,944
(OFSF=E-p= 91,422
24 924,393,000 *1/12%95% 73,182
H2I46E2 14,520




SH BIANYA
Hu: @AY
EHol: oIS (G4 EAY SH3IH) CERED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
-204 0| &t 100,000& «10¥ x12& 12,000
-154 0| &~20 0] 2t 80,000& x2H x12& 1,920
-54 0] & ~104 0] B¢ 50,000& *x1H x12& 600
AI2eY FIF I 2 3,720
-25E 0| &t 30,000& x10H x12& 3,600
-204 0| &t~254 0] 8t 10,000 x1H «12& 120
OINsx< 19,200
ol Xt 40,0003 x16H x12& 7,680
SAIE 20,000& x5H « 128 1,200
SAINE(HMAH) 20,000& x7H x12& 1,680
SAINE(SMAH) 60,000& x7H x12& 5,040
SANE(AMOIZXH)
100,000& *x3H x12& 3,600
OXH & =4 408,300 x3H 43| 4,900
Of&Eez224 4,800
23 50,000& 8 x12& 4,800
O&dHAsY 37,800
otXelAlE2R2 Y
150,000& x21H x12& 37,800
OJlzg*sd 600
oot e =S 20,000& x1H ~12& 240
SHI|orM e =S DA 2
30,000& *1H +x12& 360
Oxh22E 132,020
62 12,002& *10H x50 A| 2t x 128 72,012
=] 10,8413 *3H x50A| 2tx 12 19,514
8= 9,733& *4H «x50A| 2t x 128 23,360
92 8,798& *3H x50A| 2tx12& 15,837
HEASHH 2R 12,002 x3H x4 A| 2++9L 1,297
OFHZ A 140,000& x21H x12& 35,280
OY & FIHY| 924,393,000 «1/12& % 120% 92,440
O9 e Al
924,393,000 *1/12%86%*1/30%x 10 22,083
02 JIEt& E % 139,291 136, 137 3,154
oJe3(d3adz) 3,897, 100& »2H x12& 93,531
O 83z2¢ 10,915
=24 93,531,000 x1/12x50%*22] 7,795
HI2LE Ja=2 2,400
-20 Ol & 100,000& x2H »12& 2,400
d2Y FIIHAE3 720
-25E 0| &t 30,000 2 x12& 720
OIsx< 1,920
bl < Xt 40,000 x2H x12& 960
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N B3NS
Hu: @AY
thel: 2| (St AIY SE3AH) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
FAIE 20,0003 x1H » 128 240
SAN=(EM) 60,0003 x1H » 128 720
ofgze=g(288) 50,0003 x2H 128 1,200
OFAx<(staHelE2R)
150,000& »2H «12& 3,600
Ozu22+¢ 10,9803 »2H »50A| 2t 12& 13,176
OZHZAHI 140,000& »2H «12& 3,360
OZEYNW= 93,531,000& *1/12x60%*23! 9,354
OS2 &l
93,531,000& «1/12%86%+1/30% 102! 2,235
03 RIAHAN2Z 2N E =+ 414,081
Otz (B MgR) 157,221
lZs 2,228,900 «3&H «x12& 80,241
2+ 2,228,900& «3H «100% 6,687
FZ2=gotaa 80,000& x3F 128 2,880
IHEE 4,560
—bi 2 Xt 40,000 »3H » 122 1,440
= ) 20,0003 »4H =128 960
“S2ANE(HM) 20,0003 x1H « 128 240
-RUINE(EM) 60,0003 x1H » 12 720
-2AINS(AMOIZFXA)
100,000 1 122 1,200
St=XelE2e e
150,000 3 x12& 5,400
A FAH| 160,000& »3H «12& 5,760
A= 100,000 3 x12& 3,600
e 125,000& »3H «12& 4,500
dEY0US 2,228,900 *3H *120% 8,025
HOFE &Y 110,2243 »3F «10 3,307
A2tel =g 20,6673 *13A1 2t x3H « 123 9,673
ga224g 20,504
-H AR A E Y| 165,336 21 * 12 x22 x122 3,969
—QEME S B
165,336F x 1H x4« 123 7,937
-—SASHelAIE 165,336 12«52 8,598
AHEH xS 408,300 1 x43] 1,634
o=l 150,000 =3 450
OS2 (HYHFHR) 140,269
lZs 2,223,500 «3&H 122 80,046
d2+4 2,223,500& 3% «100% 6,671
FZ2=gotaa 130,000& 3 x12& 4,680
SEARFEY 120,000 3 122 4,320
ANZ2tIZ2 R 20,0143 x3H «15A1 2+« 128 10,808
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SA2RFL (Y2 RR)
160, 116& 3 15 7,206
& Mz AlH| 130,000& x3H x12& 4,680
ot=XMelEd+E 150,000& 3 128 5,400
dEN0US 2,223,500 *3H x120% 8,005
L2 & | 106,744 +3H 10 3,203
IHEE 4,800
—bH < Xt 40,0003 x2H 128 960
-2 AIE 20,0003 »4H 128 960
“RUNE(HMAH) 20,0003 x3H 128 720
-RUINE(EMAYH) 60,000 x3H 123 2,160
o=l 150,000 =3 450
OSRAA(SASHAAE) 53,614
2= 3,086,150 «1H «12& 37,034
e =] 177 ,190& +1H x40 7,088
&M Z AlH| 130,000 x1H x12& 1,560
ot=XMel&Ed+E 150,000& 1H 128 1,800
HELNNHS 400,000 x 18 128 4,800
Ot E A 118, 130& 1H 10 1,182
Il =l 150,000& *1H 150
O4li28 = (g 222, 323) 62,977
I0ASELES 450,595,000 *4.5% 20,277
HLBERES 450,595,000 x3.43% 15,456
LOFIEEREES 154,560,000 *10.25% 15,843
NESERYES 450,595,000 x1.65% 7,435
SMHEE S 450,595,000& =0.88% 3,966
204 X243 HH| 44,280 47,640 £3,360
02 252 XLl 44,280 47,640 A 3,360
Ozg 2=t 44,280
52 250,000& 18 128 3,000
6= 165,000 10H 128 19,800
= 155,000 3« 12& 5,580
8~9= 145,000 +7H 128 12,180
HEZE 155,000& x2H x12& 3,720
04 HIRESS 240,230 223,277 16,953
NEEEEE 182,941 166,400 16,541
Oz 2E3 136,342
2 EHE 1,375,309, 000& *9% 123,778
HZE 139,591, 000& *9% 12,564
Og=ssEg=2d3 1,514,900, 000& *3.076% 46,599
02 =22AH22E S 57,289 56,877 412
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